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CLASS 9" MATHEMATICS Exercise 1.1 (MCQs)
D C B A - Uy Jt‘"ﬁ/
& Py Sidd) b 1ol UG
Arthur Briggs Al- John The 1dea of matrices 1s given by: (1)
Cayley Khawarzmi Napier
| _J /'/._Sjl,:fadﬂﬁJuﬂG‘u‘“ - /3;7
1360 1353 1356 1854 Arthur Cayley 1ntr0duced the"Theory of (i1)
Matrices" in
o
S g1 O A
6
3 -by~1 1-by-3 | 2-by-2 | 3-by-3 L - - (iii)
4
The order of matrix | 0 |is:
| 6_
3-by-1 l1-by-3 | 2-by-2 (1v)
Tlie“\gégder of the matrix [3 2 5]
g =
. 1 0 2
3-by-2 2-by-23 2-by-2 - " 9 3_— - (V)
8 ;8 %% The order of the matrix 1S:
S ﬁ\i) 10 2
J:/I dL{ Jfﬂ ..U;UUO'BEJ .J./lé{/ﬂ (Vl)
Amrican Greek ’\Eh ish Latin Arthur Cayley was a mathematician:
Sy S S i osbes et O |
Statistics Physics Electronics | All of these | Matrices and determinants are in field of:
12 41
:;r_;.,.;::/? A
—4 4 -2
3-by-2 2=by-3 | 2-by=2 | 3uby93 TR - (viii)
_|_
The order of the matrix 1S:
—4 4 -2
/s Hl{ ,.?J}Kb‘/jl? J)(::.u:c)l _ujg J(u..-‘f/d} Jugjlu“_f'b_fl
Rows Columns Order of e The entries presented in horizontal way 1n a ;
matrix Nene of matrix are called (ix)
them
-)U-?JJU)Jg +;lp:"d/u;)( -;l,c;d/u;)@ -;l)vjd/u;)l!z? . ,?JJgA_*/JG*ug’
Suss-di PSS AR Suse-Jd. | The order of matrix A is:
i " 1}10. of . No. OIf\I ST _ )
No. of olumns -+ OWS - INO. No. of Ci .
Columns - No. of rows | of Columns Rows -by- Pak fy-O 9
by- No. of No. of
Rows Columns

Please visit for more data at: www.pakcity.org

ey nynyyyyyyyyyyyymira



9th Mathematics Full book solved MCQs www.pakcity.org

E||I|||||||||IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIII|IIIIIIII|IIIIIIII|IIIII||||IIIIIIII|IIIII||||||||||||IIIII|IIIIIIII||||IIIII|IIIIIIIIIIIIIIIIIIIIIIIIIE
th
- CLASS 9" MATHEMATICS Exercise 1.2 (MCQs) =
g D C B A =iy B | E
0 0
=S IS A : bl =
= | des/d3A g N 2, bl _— |
g Indent.lty Nall matrix Rectang_ular All of these | [0 0 (i) §
= Tl VAL is called: =
0 0
1o
E -4:;-*/'5‘ K2 -3L-2.0. 0 1 E
- disd? Vs e S¥ o (34 i E
= Identity Null Rectangular Column . atrix of the order =
- 0 1 =
: ~ 2-by-2: -
1 2
= g = - 4| r - | r . - 1 N =
E 0 0 -1 2 1 2 1 o < oty g 1l R
= | 00 0 -1 0 1 0 1 | 1] (i) | S
= - = B - - - - ~ | The nagative matrix of the matrix 1s: =
= A\ 0 -1 :
E o e — f“:)\ (AB YA o KAJPfB_ug A E
- = o vl B & C Matr Atﬁ s possible if order of A and B is (iv) | £
= - X 1 ible i i =
§ Equal Unequal Different Both B & C §
: < ‘\ﬂ %ch statement is false for rectangular matrix? =
% fﬂf’““\%ﬁ >/ k 0 O E
LA O\ Sk 565 |0 k0| g
= P N =
E .\ e \Y a7 0 0 & .| Z
= k#0 KkOR kOWA v~ kON ) ) L il (vi) =
= N =
= A matrix| O k0 | will be diagonal matrix if: =
0 0 k|
2 3.
= - - - 8 - - \ - A" =24n A= /i =
= 2 -3 2 4 S5 —4 Ja=a —4 5 (vi) =
= - - - - vii) |
= 3 5 a3 =
E I - = 4 & ANe If A= then A" =? =
= L_4 5_ E
: f o1 _ gL S ESM e L | B
: | M =-M M =M M = IV M' =M | A square matrix M is said to be skew symmetric (vill) | Z
e if: =
: th . -
- CLASS 9" MATHEMATICS Exercise 1.3 (MCQs) =
7]
- D ¢ B A <= Uy =
E Y= E
: . V(TP <3 (A+B)+C=A+(B+C) (tuss =
= G sk oleudb | bl i AR, 1 N { " i =
g g Both A & B t(l)lggeo (A+B)+C=A—I—(B—I—C) is called: ) E
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L O O gy
Commutative | Associative I; : |
law of law of aKcItv.or %0
addition addition C%:p ty g
e 5 ABETF B AE < 5 3BE7K A B )
Matrix A 1s additive identity | Matrix B i1s additive identity U0 2 L AUIA s B /i
of matrix B of matrix A 3w A+B = A = B+A (ii)
STl ) ) 5 If A and B are two matrices of same order and
- it B B A A+B = A = B+A ,then:
Boj[h matrices are additive Matrix A = Matrix B =FP=T ,then:
inverse to each other
y e | S eE | e o A+A" LLANE, S|
Null matrix | SYmmetric Skew Identity For any square matrix A, A+A'is: (111)
matrix Symmetric matrix
(C-B)+A=?LLuksz ot
C (B—A) C—(A B) C+(A—B) (C—A) B | For any three matrix of same (iv)
order, (C—B)+A ="
th
CLASS 9" MATHEMATICS Exercise 1.4 (MCQS)
r& =7 éé A B UJJU,.#/(”»
AB ( BA)T B'A’ A’ B! For t“;o\ A and B of same (i)
o@@w al
D™ 6 '3 0
Vil 18 1071 | - = | e @/EV kxABZLZB=| | A=
18 -6 18 ég\f -1 2 .
4] |16 10] |49 10 | 16902 30 T
S SN 7 | For A= and B=| |, AB will be:
RaN9) -1 2 D,
NN Bl )
. _8_ /\ié/ e _4:;.414“148” Jv B= 31 /3] A:[ 12 ]//’
[ 2] | [4 2] S (i)
3 | 2 0
- - - - It A:[ 12 ] and B= - then "AB” is equal to:
{ ) —=
Fe f/bdilag[l 2] |
3 [13] 3] -13] e - 2 (i)
Product of [1 2] { 1S

CLASS 9" MATHEMATICS Exercise 1.5 (MCQs)

D

C

B

A

= Uiy

Jlr'/:‘
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: ) 3 -6 . .
= o st NG st L] . ML L=d S x =
= X =
E 4 3 ﬁ '3 — _3— 6__ (l) E
g For what value of x, matrix ) 1S a singular? E
= 2 X =
E v @7 | :
= - - = ~ = : - - Ay y =
= a —b —-a b d -b a b 3 S0l U b ) :
= e g . (i) | S
= —c d c —d —C da c d . la b, =
= } | - | = - - - Adjoint of matrix 1S =
= € @ =
g ' Al =2 L L A= a b _,JL;'Q’( E
= Ad) A Al A A e . 2l » E
= Tal N - . - - iii =
E |A‘ Al |A| ‘A‘ B .. |a b . =
E or any matrix A = , A7 =17 =
= c d =
S = . 5ot At KL S =
= OJ( S/ G-/ ST oL : =
= —— Each matrix with real entires 1n either (iv) =
= | Rectangular Column Row Square ; : _ -
= singular or non-singular: =
= 2 1. =
= @ = i ; 123%8 A‘ =
= /«"ﬂl\ ' — — =
§ 7 -5 5 P k\i D) . ) :
e | if A= ? =
= |~ 3 =
= F 66 31 > N e :
g 5 3 b.*Jl?dljw o » 2 [>The inverse of identity matrix is: - g
= | Null matrix | 9enUty | Negative of Wi g
= matrix identity =
= matrix . { > =
= C\N Y = . E
§ g\»i) K (AB) = ? éd: A B B ub Z o ;
- A B! A' B’ _BrATT B 'A” For two 1invertible matrices A and B, (vii) =
= AN i =
(4B) =1
g a bl . =
= L, |A JA = . Ji =
= C -
= ab—cd ac—bd bc—ad ad —bc i - - - (viii) | Z
= a b =
E If A = then |A| = =
= O d_= =
th :
- CLASS 9" MATHEMATICS Exercise 1.6 (MCQs)
> ¢ B A e P
g cx+dy=n » ax+by=m U9l Gsk 2 E
= an —cm bn —dm —cm — an dm —bn X=7 - ﬁ,/ - i -
g ad —bc ad —bc ad —bc ad —bc The system of linear system equations, E
g ax+by = m and Cx—l—dy:n , x=7 E
: m X a b . E
= m n m b a m a C B = »nl X = «A= //l =
= b od | e R
§ . e ‘AK =796 A PIAidx E
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g a b E3 m

= If A= , X = and B = then by

E _C d_ _y_ 5 n B

2 cramal rule, (A, [="

§ 3x+y=—47 4x—2y=8u;le~‘)l)‘?);

g Qjﬁgaﬁ’i'd/xﬂic'_/. .
= x=0 X =-4 X=9 X=2 What will be the value of x, for two (111)
- simultaneous equations 4x —2y =8

= and 3x+y=-—47

: 1 el (Guia sale) 0l o c-% pakcity.orggo of S by
g D C B A < Uy Jké/:}
i SoK[2 1] |
= 2-by-2 1-by-1 1-by-2 2-by-1 o | (1)
= The order of matrix [2 1]is:

= 2 0

e bl B /2

g sk 3w s K S _ ) 0 N2 (ii)
= Singular Unait Scalar Zero J2 0 |, ﬂf"éi;%} _

= 1S-called matrix.

= 0 2] @

X ..

3-by-2 2-by-1 1-by-2 2-by-2 /?%\3 < S TR (iii)
= N @fih ch 1s order of a square matrix?

N N

. coQ ol e 5120 1|

- f‘@ O\ 3 2

1-by-3 3-by-1 2-by-3 (™ 3-by-2 o . (iv)
= N W 2 1

g ij Order of transpose of |0 1 |1s:

: 3 3

§ 4 Ad'_1 2

= i ) ) i ) ) b _ szl

= | [-1 0 1 2 1 -2 v/ K | 1o L (v)
g 2 1 0 -1 0 -1 0 | W A4
5 - - - - - - - — | Adjoint of 1S:

= 0451

- 2] ..

= wdzx y]| T |SedA

= 1 :

= [x + 2y] [2X — y] [x — 2y] [2x + y] o -7 (vi)
= 2 |

= Product of [x y] | |1s:

P .

= e NrX Y =0/

= ‘ 3 x

= -9 6 —6 9 (vii)
= 2 6 .

= It =0, then x 1s equal to:

= 3 X

= | [2 2 20 0 2 22 P e N R .
= i SN I —

= | [0 2 0 2 2 2 2 0 ‘ 0 -1|7[o 1|7 (D
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIIIIIIIlIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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-1 2] [1 O .
It X+ = , then X 1s equal to:
0 1| [0 T
ORI
th
CLASS 9" MATHEMATICS Exercise 2.1 (MCQs)
D C B A = Uiy Jt"’/:l
.7 =Ll ) 4 YAV _%;‘Lftd/ &_L:EL;H‘ e £ (i)
Alphabets Symbols Numbers Equality | The are the foundation of mathematics:
Physics Biology Mathematics | Statistics | The numbers are the foundation of
! / y / :? soe
ovQ | onQ | 0-0 | -0 |, N =0 i)
SA21 80 F dzl:-‘fb:‘.)}:[‘cﬁl ‘5’?"‘4/{ USA & C {D\f = e £ 1
Recurring | Terminating il BothA& | 4, S O (1v)
decimal decimal I IMIALDg C @r"ﬂ@\ % number
decimal — fl‘ii\_ X
i/\ N\ \J'//Zj\i;jv VN u(’ 4
F J 3.4 J%% 1 ‘ 5| (v
[rrational Rational Natural X;kag) e Aumber:
\?\1 O\ 5
)l,wl(}f? ol f"ﬁ’(};g&\\g\) )Uﬂ&bt _¢_:.,..5( {0, +1, +2, i3,}
Real Whole ™~ | Rational (vi)
number (nteger ~Auinber number {O 122,13, } s the set of
ﬂﬁ'yt/;; }'J'Jbt )’ﬁ'&jﬁ }Iﬁ[dv‘( -u*d—/ J(e,/)' '\/_ \/_ \/_ ﬁ)lﬁ'dl
Irrational Rational Natural Whole TR nunibers \/_ | \/_ 3, \/ga 7 and . are called (vii)
Numbers Numbers Numbers Numbers !
th -
CLASS 9" MATHEMATICS Exercise 2.2 (MCQs)
Ve
D C B A < Uiy
#
& U/G Juﬁ 3 el uf! a=a,VaeR i)
Symmetric Reflexive Trichoromy Additive a=a,Vae R1sa/an property:
) s e b e = = :
- 0/5 o " = :f' b —f Ya,boR re ieszrf T (i1)
Symmetric Reflexive Trichoromy Additive 4= — &V P
- property:
FE 7 A 3% e Sédza=bb=c=a=c (i)
Symmetric Transitive Trichoromy Additive —e L S
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a=b,b=c—= a=cshows property of
addition:
SiVa,boRa<b <+ >
a=0,b#0 | a#0,b=0 | a=0,b=0 | a=0,b=0 a bl Gy
Va,boRa <b <> > - if:
‘ a b
MGJ&? MGgfg e i by o VYa,boR, a < bora = blL a > b
Symmetric Reflective | Trichonomy | Transitive | /g pOR. a < bora = bora > b (V)
property property property property *
M“’bfb’j MGcfg MB(}"&" "I ??djdﬂ/;d/;ml:"?cwl&u)[
Symmetric Reflective | Trichonomy | Transitive | Which of them is not the property of equality (Vi)
property property property property of real numbers?
"o el Lol
i ) A A Symbol "for all" 1s L | i)

CLASS 9" MATHEMATICS Exercise 2.3 (MCQs)

D C B A < Uly JL"’/
qE -u*<f §fs S 'n' Ya .5y
el ij:l J U w i)
Sign Index Base Nenie of In radical - Gﬁ%/\ls of radical:
these (O A
{ Wk "
LEERY %i,\{\\ _u"ff s fs a' \/5&.;@;
e “ Xl J o - ;i
Sign Index Base None of /! ffi “radical \/7 'a' is of radical: (i)
thes&,\\/
o)y n/ + g
\ abZ?;ﬁm,nEZ jjla,bER/(l
JarJb' | bar | (ab)’ :;8@5% i (i)
N :& ) abeRand MNEZ thenvab ="
C \i\\\/ /1 . —
;11/{1/7 H/W /_:Hg?xvn m/n V ab — ? Y v man - Z+ 78} a,b e R )/' .
a a a ( 7 then b =2 (1v)
abeRand MNEZL thenVab ="
C o go. 75 00 :
J49=31 | J49=49 | Ja9=\7 | V49=7 sesetiefl0of ()

Which one 1s the true statement?

CLASS 9" MATHEMATICS Exercise 2.4 (MCQs)

D C B A = Uy Jk“'/f(
x—zx—3y7
3.7 y3 - 5 7 ‘LJ{/J”"VJ y
X'y :
Xy’ x_2 5 3y o Ly 3T (1)
— Most simplified form of ————1s:
XY
R (€)
4(3)1*1 ok "?'fd;/ﬁtjg‘nﬂ _73
5 2 ) (i1)
3n+l _ 3;1 3n+1 _ 3;1 | 4(3) _ |
Simpliest form of 33 18:
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gl Kbl " ?é_t-u.{ Ved a ', n Ll d
Jffcl'a' Jf,i't'n' JG S - |
Index of Index of Bass of s N In the exponential form @ , 1 iscalled (111)
power of ‘a' | power of n’ of exponent:
‘ ‘ ,ﬁa(}: 1’ &LHCI” u,(
AOR — {0} aoR — {a} aoR a=0 . ) - (1v)
For a number d (1 1, when:
LS [ ]_3
- s
2 2 5 5 1235
= - -2 > v)
5 5 2 2 A
I Q 3
Simpliest form of | —— 1S:
125
th
CLANSS 9" MATHEMATICS Exercise 2.5 (MCQs)
D C B A = Uiy Jt"/fl
Natural Integer Irrational | Complex [ Every real number 1s also a number:
U”E*:LJ C; F du4 ¢ \}‘*\ -k L1 3 (ii)
Complex Integer Irrational Natural | '0'1sa/an O) number:
Ve ot S K3 4 p \8‘% Lo rolia—bista+bined F»
Additive | Multiplicative | Complex s imaginary numbers a+bi anda—bi are (111)
. .. : All of them (%
Inverse Inverse conjugate AL /) ~_to each other:
Q \WY, N ﬁﬁé>;w -L,)}c’“—//;lbc.- /@:L;Iylu‘.&frg (iV)
o) Set of complex numbers is represented by:
{‘ \ ,f*\&j . _ 9 o 4
ST | T NSPRe SN | =YL ()
=\ In complex numbers i =7
AN TN j . .
RO ﬁ““‘) : 2 =35(-i) _
1 -1 QAN z 4 (vi)
The valus of ( -1)
4i-3 | #4i-3) | —4i+3 | 4i+3 | g e AWA3 oy
Conjugate of 41-3 is :
th
CLASS 9" MATHEMATICS Exercise 2.6 (MCQs)
D C B A = Uy Jt"/f(
g 37 TP L A L pnli—i o
Additive | Multiplicative | ~ = Allof | i and —i are to each other: (1)
onjugate
Inverse Inverse these
ivl,=c+di o Z =a+bi j
Re(Z,Z,)="
ab—cd ac—bd bc—ad ad —bc _ _ (ii)
It Z, =a+biandZ, =c+di then
Re(ZZ,)=
ab—cd ac—bd bc—ad ad+bc inl,=c+di s Z =a+bi ji| (ii)
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§ 2§ 1K Re(ZIZz):? E
§ If Z, =a+biandZ, =c+di then which will §
- be imaginary part of : =
Re(Z,Z,)=" pakcity.org
= : =
E ~ (S K(‘"—l‘|“\]"—2) E
= - ~3.=2 z 22 2 (iv) | £
- Imaginary part of (—1 +4/ —2) is: E
= | . | Hedo | A6elilumZ=athi Lo ®
= et gfy USA& B . =
= Pure ftenl Both A & o N et (V) g
= | imaginary St B None of | The sum of a complex number Z =a+bi and =
= these 1ts conjugate 1s a number: =
g . IS “ ° g
il oS )
g D C B A = Uy /Li/:} E
g 3 3/ 2 3 3/ 2 ) g
E Jx* X Jx® X (7 ) - il
° 5 ? ? SO
E /__ﬁf\f \_é’:)»‘ . g ‘ /(/_ E
= x? " X X (o) & U Bl d X (ii) | £
= Wgﬂg@'@m exponential form: =
: A _ . . K 2/3 -
= | [# & e G . 2 BT
= ~ ' PWrite 4°° with radical sign: =
- | A O
= ) 35 l \% H - k5t 335 ; =
= | Noneol — 3 00 | 1y 435 the radicand is v
: thage R\ n e radicand is: :
: 4 5 «g&v\’v 5 1 :
= : 25\ 2 =
= _Z _= <N = S L ¢ -
g 5 4 ~3 4 ( 1 6) (V) E
§ S5+41 S5—-4 —5_4i _54 4 < oS 7665+ 4i (vi) E
= The conjugate of 5+ 4iis: 2
= L3 =
—i 1 -1 1 - =4 (vii) | Z
= The value of i’ is: =
= | A L | W FL | APrg | wl i ~ e
= . . o o et e U /i see =
= | acomplex | anegative | arational | a positive . (vim) | £
= _ ; Every real number 1s: -
- number integer number Integer =
% - B¢ ab(i+i%) AUty =
E —2abi 7abi —2ab 7ab iﬁ- ? y&yg ab (1 +1 ) /u_,ar/ (ix) E
= Real part of 2ab(i+i)1s: :
g 3 3 y 9 - 2§ 6131+ 2) /wg (%) g
= o Imaginary part of —i(3i+2)1s: -
: 1 e S bt b bl by =
= {1’ \/EE} (0.1 0.-1) ﬂ Which of these sets have the closure property | (X1) =
: w.r.t addition? =
%IIIIIIIIIIIIIIIIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIII|I|IIIIIIIIIIIIIII|IIIIIIIIIIIlIIIIIIIIlIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIllllll'lg'

Please visit for more data at: www.pakcity.org



9th Mathematics Full book solved MCQs

www.pakcity.org

=S ey ymmmyymmnmmmmmms

sy ey mmyymymemnmmmm
4 A
\/25 X1 = \/ZELJWIL a{.“’r"?du:’/
" \ /
JEds | s | uset | AT N
Multiplicative | Multiplicative | Additive | Additive N -  wnn] X 1 _"' (xi1)
Inverse Identity Inverse Identity ame the property oI real numbers used 1n
( 3\
V5 ), N5,
. 2 2
A1 . ’
u‘/d X7 = V7 XZ > VZ X7 < V7 X<y= "Z<0//l coe
None of Y Y (xiii)
If x,y,zeR,z<0, then x<y=
these
7 J -<=~nsa>bla<bla=b u{l._i/",ula,beRﬁ
S : A 1% -
z St ¢ o 250§ )y L .
Multiplicative | Additive | Transitive | Trichotomy Wb s | (xiv)
Property | Property Property Property If a,beR, then only one of a=bora<bor
a > b holds 1s called:
.a,w()/a‘)(ib; }ﬁfb/f )ﬁit ;ﬁ&zﬁ - K )ﬁd}&fld)lfﬁ;dwliug
A Prime £5E . A Natural | A non-terminating, non-recurring decimal (XV)
Irrational | Rational
Number Number represents: f’*é
Number Number (o )\
Tkt S
3D )
AN
AU
NS
; ”’“f\/@>
e 5 {
( \“‘* N
th
CLASS 9 Mér EMATICS Exercise 3.1 (MCQs)
A < Uy Jb"ﬁ/
25 P Ny < 1N L,
Sl 2 7o first gave the 1dea of logarithm:
Ab )’i\/l ﬁ.:ub' j‘//.dﬂ J!"”J' .
u Musa John Henry A 1 (1)
Muhammad Napier Briggs Y
Al
Khwarzmi
Ut e 'ax10f .‘@,)?ﬁ;@mutfi}'ujv
I=a<10 | 1<a<10 | 0<a<10 | 0<a<10 | 1y scientific notation of number is "ax 10’ (i1)
where:
" e 4
0.007610 | 0.000761 | 7.6100 7610 L -6 76110 (i)
7.61x10" in ordinary notation is written as:
/1624 1620 1616 1610 St ek K (iv)
1624 A.D 1620 A.D | 1616 AD | 1610 A.D | Anti-logarithm table was prepared 1n:
d}ﬂ,gl J/Mla ﬂ:Ulp //dﬂ ?Llﬁ:dsggfm/xgﬂdls lOJVlJ_cjbd’z’p/
Al Jobs't B;ir i John Henry Which mathematician prepared logarithmic table (V)
Khwarzami 5 Napier Briggs of base 107?
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ey
1.5x107 | 1.5x10° | 15%x10° | 0.15x10° e LA i By
(&) (& 46) (& 4) (=) Distance from earth to sun in scientific notation (vi)
. \4
1.5x10" | 1.5x10° | 1.5x10° | 0.15x10° | ™
km B km km
mJ*’tJf )ﬁytjug ;ﬁ(}:?.,l./l 5" T i (1><10”(’/U*lf
A iieral An A toal 4G For the scientific notation ¢ x10",'n" 18 ____ (vii)
irrational An integer
number number
number
d);l,gl Lf/._”/’lp jf.:uu j/dﬁ -JJE:L J:A?J/J{Uﬁ
Al . John Henry Antilogarithm table was prepared by ; (Viii)
. | Jobst Burgi : .
Khwarzami Napier Briggs
6.43x10™ | 64.3x10™ | 64.3x1072 | 643x10” = ix
s ) ) Scientific Notation of 0.0643is : (1x)
th
CLASS 9" MATHEMATICS Exercise 3.2 (MCQs)
D C B A - Uls Jk"'/:l
W FESE RIS @ =Y S
log, x=y | log,y=x| log,x=logy | log, y=a i Bann ! (i)
If a = =y the;} )ftsi)\\ogarlthm form will be:
. (o > log 1="
Q ! : unCi):;iLne log: </ . (i1)
1 S s
-2 -1 2 1 U B e ~bUs2.1324 (i)
> 5 In the term , 2.1324 character1stics 1s .
—-:;"""i\}{f’i’r) -é.t"rf ..'.al:?;ﬁ)ﬁgﬁju’ l/!d/ (’5 J?)Jc_(,,wgff /'ﬁl
0 <1 1 /\‘j @io If a number and base of its logarithm are same (iv)
AAY then answer will be:
TN
AR e .log,
0 -1 ~) 10 (V)
h logﬂ 1s equal to:
0 1 i 10 :.f_.,flégfgjgﬂﬁ 5.79 (vi)
a The characteristics of 35.79is:
al The logarithm of unity to any base 1s:
0 c 1 10 e S | (i)
i Base of common logarithm is:

CLASS 9" MATHEMATICS Exercise 3.3 (MCQs)

D C B A = Uiy ol
#
log (mn) =7
log m—log n | log (m+n) | log mxlogn | log,m+log,n (i)
log (mn) =1
log,m—log,n | log (m+n) | logmxlogn | log m+log n log, (m) =7 | (ii)
n
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ey
m
log | — [=7
n
m 1 loga m" = r) oo
loga (mn) log (—] nloga m —log m (i11)
n n log m" =7
log n="
log, nxlog b | log nxlog n | log nxlog, n | log, nxlog,n (iv)
' ' ' log n="
1
| ¢xlog. [ ) ?
n
—log n nlog 1 log n —log, (—) (V)
log | — |="7will be
n
¢xlog 10="
0.4343 -0.4343 2.3026 -2.3026 (vi)
log 10 =" will be
3.14 2718 10 0 b = Fle |
The approximate value of 'e'1s:
(O T “ p
) .M-‘ S P
\\f o L ¢ U" uch)
D C B A N {\\\ O < Uiy )y
N Jua*=nJ)
a=log_x x =log, n x=log a | a= 10g,(n rd =l (i)
% \&h i“‘-*"? If a =1 then
i~ Jyy=log x|
~ N The relation y =log, x implies:
A\ -
0 " | %g/\i}ﬁ 1 ..cc_t'yz/:!,:é /1@?'1' 4u’wo’( (iii)
- f”; N The logarithm of unity to any base 1s:
- U flﬁjﬂ)ﬁﬁjdbfd//)gﬁjé)ﬁu/(j
10 —1 0 1 The logarithm of any number to itself as base (iv)
1S:
1 00 0.4343 0 loge = (e ~2.718) (V)
1 - ddlog [R]
logg—logp | logp+logqg logp logp—-logq ! (vi)
O
=4 The value of log[B]iS
qg
p lo -
log [—J 4 &P log(p-— q) log [B] logp—logq = (vil)
q 1024 9
N e (FLLA S Jlogm"
log(mn) nlogm mlogn (logm) _C’" A e (viii)
logm" can be written as:
log, c log, b log. a log, c '/‘_"L'Cl?w%é . flog, axlog, b (Ix)
log, axlog_b can be written as:
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gy o
log vy log, x log. z log x L § vzl log, x )
ﬂ a X
log, X ey I log, 7 log, z log, x will be equal to:

u@ pakcity.org?c
th :
CLASS 9" MATHEMATICS Exercise 4.1 (MCQs)
A
D C B A < Uly
#
4.3, .22 S
Se W onk 2X Y +XTY +8x ¢
What 1s the degree of the :
X 4 4 : polynomial (1)
%xgy\ + X7y +8x7
o
: , , Usn B & C( Q\f QLJ/OJJ/UUIIU’/JL’ »
x—4 | X +v2x°+5x-3| 3x>+8x+5 Both Bfgb’ Identlty that which one of the them (i1)
O@,\g\ S8 1S polynomial?
@ gt
2b 20 20 Q7 2 A e b | g
2 2 2 2 2 ,) 2 72
a”—b a”—b ,(\/ﬂ [ a”—b . : is equal to:
\ a—b__a+b
(—x—2)(—x—2)| (x—2)(x+2) @E;(H 2) | x=)(x-2) | . s X" =4 (iv)
{'~-~T\V x° —41is equal to:
‘/“\ J-*?d/f'?f’ Ll X 2L
"‘“\)
-g.l:‘Lk(
- Fék)—a x +a_.x"" +a, ,x=°
ey g g, Mgl +..ax+a,a #0
Irrational Rational Polynomial Arithmetic | Algebraic expression in the variable (V)
expression expression expression expression | 'x' of the
P(x)=a x" +a X' +a, ,x"*
+..ax+a,a, #0
form 1s called:
5 I Jg @ Every pol nomia;%ijﬁ o (Vi)
Integer Irrational Complex Rational Y POLY
expression:
Z - . Z
-d/yz_wjd/x Yo y=—1.0X= 3/
27 -27 9 9 I[f x=3and y = —1then the value | (vii)

of will X'V be:

Exercise 4.2 (MCQs)

CLASS 9" MATHEMATICS
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glll|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||l||||||||l||||||||l||||||||l||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||E
g u ¢ B A - Ul s o g
E = g
= [(a+b) —(a—b)* |(a+b)’+(a-b)Y (a-b)’—(a+b)* |(a+b)+(a—b) Se s US n :
= |=2@a’+b7) =2(a’ +b%) = 4ab — dab Whchrelave | W
g 2 2 2 ) 2 ) £ dab=" =
= | (a+b)" +(a-b)" | (a=b)"—(a-b)" | (a+b)"—(a-b) (a+b)(a—b) Aab—2 will (i) | £
: be: =
g Snedfabix E
E a—b =3 E
g a+b=7/ Gi E
. » = e If a+b=7 )| S
E and a—b =3 =
- then the value 'E'
: of will ab be: -
= | 3| 3 3| 3 3| 3 3 Se(a=b) | =
= | a’ -3ab(a+b)+b’ | a’ -3ab(a+b)-b" | a’ =3ab(a-b)+b’ | a —3abla—b)—b 3 (iv) | £
= /6\\ (a—=Db) will be: =
g “/6\” - x—1=4 VY =
g /\ f“\}; <> X P ; g
g {\\I/[Q x3 _ ? g
= NS . =
= ~ */’@5‘ What will be =
g > . QF\Q(J s 2 the value ) ;
g ~{ éj} “¥ of x° — LS =
: ., (‘ﬁ\\) X =
= AR when =
= R 1 :
= N x——=4: =
g 2 ) 2 7 ) ) ) 5 SV a’ —b’ E
= |(@a=b)a"-ab+b") [(a+b)(a —ab+b") ((a=b)(a +ab-b") |(a=b)a" +ab+b") | ;5 _pis (vi) | Z
= equal to: .
. CLASS 9" MATHEMATICS Exercise 4.3 (MCQs)
g D C B A = Iy ,L-“v/:i g
g ) IONYIV, Jbté&:afﬂédjmu:gf(yk);lﬁ’ S g
= | O P % s e | g
g imatipnal Rational Natural Whole A/ An radical with rational radicand 1s =
§ called surd: E
e 3=327 =7
= | 33 N 53 J3 e i) |
g 4\/§ — 3\/5 =7is equal to: g
g AN ‘\/ 3 %/ 2 E
J6 Y6 /108 {108 3 = (iii) | 2
E \/3\/2 1s equal to: =
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g F g B 3.5 E i -4;_.;@ d,QE{fJ” b{q’ 4 (Lw‘;{(" u/,&o/ - E
= Trrational Rational Natural Whole roauct or a SL}I‘ and 1ts conjugate surd 1S a / an E
£ number: :
$(3+5)(3-+5) ="
= f 0 ? . (v) | =
= (3++/5)(3-+/5) = 2will be :
E * o S ] P N 2 E
4 el e dale) 00 Ja o OIS by
g D C B A - Iy JUE'/:} E
g ..::-fljbﬂ/:f sl a/é Az - d/'j’h_gl (4x+3y—2) ) g
% Inequation | Equation Sentence | Expression (4x + 3y — 2) 1s an algebraic: §
= A : ) | .3 SnK4x* +2x%y L?J/:?/ G =
- 2 ‘ . . i) | S
= The degree of polynomial 4x* +2x’y is: =
= 2 ). E
= | (a+b)(a’—ab+b") | B | (a-b)(a’+abib®) | A e drad+b° | | E
= a : . “ (i) | =
= (a—b)(a“+ab—b2) D| (a—b)(a’—ab+b’) | C | a’+b’isequal to: E
§ ,1<:*?”\‘:§ﬁ*r A (3+ V2 )(3 2 ) §
| B - - Oy (iv) | S
= (3+\/§ (@—\/5) is equal to: =
= b P =
5 KON Z E
= (7N - A2t a+b £l -
= \/5 — \/E \/5 + JE a—+/b —a+/b\(1 { i ) | T | o2y \/_ (J / (V) =
= o Conjugate of surd a+ Jb is: =
I~ R
= RN, P Vs =
= | 2 2 BN Lo " Tacb atb | o S
g a2 — b2 a2 — b2 92 _bj‘\i Qb a i 1 Y | E
= P 1S equal to: =
: AN g a’—b’ =
= :é,,f:l/; " =
g 2—h a+b (a+b)2 (a"b)z S ol (vil) E
= 1s equal to: =
- a+b =
RGN
: a+b a—b a’> — b’ a’ +b’ (viii) | Z
S (\/E-F\/E)(\/E—x/g) 1s equal to: =
= CLASS 9"" MATHEMATICS Exercise 5.1 (MCQs) :
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIII|IIIIIIIIIIIIIII|I|IIIIII|IIIIIIIII|IIIIIIII|IIIIIIII|IIIIII|I|IIIIIIIIIIIIIIIIIIIIIIII||IIIIIIII|IIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII'IE'
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D C B A < Ul s ”
-
”/ -ugq/ﬁ;zé
a+dMe+b 1 n n n VANt ac+ad+bctbd |
( )( ) (a C)(b d) (a b)(c d) None of these Factors 1)
of ac+ad+bc+bd are:
?ujdﬁi.l}?l;/a"éf
(3+ y)(x—a) .
3x—3a—xy—ay | 3x+3a—xy—ay | 3x+xy—ay—-3y | 3x—3a+xy—ay (11)
(3-I— y)(x—a) ar
prime factors of:
_djd/}f_i}.’l:/s’é
(1—a—-b)(1+a-b) |(U—a+b)(+a-b) | (1+a+b)(1+a-b) |(1+a+b)(1—a+b) 1+2ab—a” —b" (111)
Prime factors
of 1+2ab—a” —b” are:
LG ANE G, S6S
: : : : e 2 9x” —12xy
—4y 4y 16y —-16y”. What will be added to (1v)
(9, | complete the square of
SNy
OV Ox” —12xy?
0< Q‘;\“\\v L
Nl _
(a—c+b)(a—c-b) (a+b+c)(a+b-c) (a—b- c)(cf\t(ﬁ*\é)) (a+c+b)(a+c—b) (a+b‘|‘C)(a+b C) (V)

) r,/ao>\f (a+b+c)(a+b—c)
/ ; O?\\)\CJ have factors:
CLASS 9" MATHEMATICS Exercise 5.2 (MCQs)

TN
NN /.1
D c B A Ul
=
- T 2
; [ ) A ,., adFam L xP=Tx+12 (i)
x~—7x+12 has factors:
_ VATPRR A2 1057 —41xy +21y7
(2x=7y)(5x-3y)| (2x+5y) (3x+7¥)| (2x-3y) (52~ 7¥)| None of b S 5 ) Y (i1)
these 10x" — 41xy -+ 21y are:
4 2.2
S g 9% +3637Y sty
4 AR TOA S, see
—-36y" 30y -36x7y’ 36x°y’ ) ;' Edd/ (111)
What should be added to9x" +36X"y" to
complete square?
G2 e s 2
6,7 3,14 3,-14 74 | ATt lx ~1ln—E | gy
Suitable factors for x* —11x—42 are:
,} LS8 S G X +64 12
16x” 4x* —8x” 8x” | What shall be added in x* +64 to complete | (V)
the square?
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CLASS 9" MATHEMATICS Exercise 5.3 (MCQs)
e
D C B A = Uly
#
il x—3
65 8 66 67 x> —6x+2 /1 (i)
If 9x* —6x+2 is divided
by x —3 the remainder will be:
;)*EJ"(;: P(Cl) =) .::..2_/'/61) 'a 'J?J
63 FP(x) | 68,2 P(x) | 2¥P(¥) 82 | P(x) 3.2 Y
One of the X' of the /ero Ofthe 'a' of the o -%7“4"/ / X =4 (ll)
polynomial P(x) | polynomial P(x) | polynomial P(x) | Polynomial P(x) If a specific number x = 4 18
' substituted for the variable x 1n a
polynomial P(X) that P(a) =0,
then x = 4 1s called:
ﬂ(‘})\\ e 0 Yl 27K P(X) (?J/ff
~N\|, < : )
{_,_9\“’ (x - a) i
. H\' : (N N
P(a) =) P(a) =4 P(a) = «5\1(6,%6\) The polynomial (x — a) is a factor | (1)
(2N
{}\(’Zg(:ij of the polynomial P (x) it and
fﬂé\;j only if ;
) —{‘i(}“”' (x3 —Kx2+11x—6)£ Ty-d
~\ O\ P
b \3) (x=1)/
NN NI EN
-12 12 ¢ ‘é/\"‘) -6 6 .J,/:J"Jm(_}/ i (iv)
N If (x - 1) 1s a factor of
(x3 ~Kx" +11x— 6) then find the
value of K.
th o
CLASS 9" MATHEMATICS Exercise 5.4 (MCQs
D C B A =iy KA
93 (_}/"’2’_!21;@: 2x + x> —2x—1=7
(2x—1) | (2x+1) (x—1) B&C oL Ui o)f (i)
Both B & C | Which is possible factor of 2x° + x> —2x—1="7?
& o 0 IS - & \ &
SJQMOMOJLQ‘OMJA 'WUAJSU"AQJ
D C B A = Uy Jl?’/:;
A N 2
X+2,X+3 X+6,x—1 X—2,Xx—3 X+1L,x—6 - JALIZIL X 5% +6 (i)
The factors of x*>—5x + 6 are:
L gy

=S ey ey
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L O O gy
(2x—3y).(4x* —9y°) B (2x+3y).(4x* +9y) A N 3 171 L 8% + 27y i
> , ) 11
(2x=3y),(4x> +6xy+9y*) | D (2x+3y),(4x*~6xy+9y’) | C | Factors of 8x° + 27y’ are:

=S ey ey

-

QP17 L3x% —x =2

(x—1),(3x+2) (x-1),(3x-2) | (x+1),(3x+2) | (x+1),(3x-2) (iii)
Factors of 3x”—x —2 are:
(az _2b2),(az +2b2) B (a—b),(a-l-b),(az +4b3) A o (_}/3’2_!7.1534 _ab -
(a—2b),(a* +2b) D | (a-b).(a+b).,(a*>~4b*) | C | Factors of a*—4b*are:
L{szguﬁulgj_ii_lz@/&'gf%z—mab
—4b’ 4b° 16b —~16b’ 'L ()
What will be added to complete the
square of 9a” —12ab ?
LG rJEx +4x+m gj.i.:g‘,/d/m
16 4 8 3 | (vi)
Find m so that x’+4x+mis a
complete square.
(x—4y),(5x-3y) B (x+4y).(5x+3y) Al _un ﬂ(mﬁé_lflé 5x° —17xy—12y” (vii)
R ii
(5x —4y).(x+3y) D (x—4y).(5x +3y) C Fae;@sfof 5x* —17xy —12y*are:
3)~;+l 9x” + 3 : B [3){-—1] (9:»(24—3+L Qf\&gg\o Sl 27x3 1
X ) X X) lefgz.j\j}&“ N -4 e T
————tS , (viil)
3X+l Ox2 _ 34 1 D 3);_1 Ox2 _ A c | Factors of 27x* —— are:
X ) X x) ) x> A
/\\{1 \\5
POV o-010- 0%
O
A T
N
S

CLASS 9" MATHEMATICS Exercise 6.1 (MCQs)

A
D C B A < Ul
Y=
HCF | p)xq() | iwagn | Ho/=dio i "
None of L.CM=? 1
p(x) X q(x) H.CF Both A & B these
2k 20(2x° +3x" —2x) s 9(5x" +40x
5x(x-|-2) x(x+2) 5 2 ‘ (‘j” 4 ( )3 ( ) (i1)
H.C.F of 9(5x" +40x)and 20(2x" +3x" - 2x)is:
} AV LJ;'J[J:"U}JH[‘ﬁybbfu...«/"bfl?guy}}
oy " IS " " b | (i)
of their L.C.M & H.C.F:
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L O O gy
o 4443 X +3x+2.x" +5x+4
(x+1)(x+4) x+3 (x+1)(x+2) x+1 K| ()
H.CFof x* +5x+4, x*+3x+2 and
x*+4x+3is___:
?;.Cﬁug(}”c,uékéf(”uu
4 3 2 l The number of methods to determine (V)
HCEF are:
?Z.Uﬁgjlﬁl-ﬂc;.lZ(E,bbm 120457 651 4135
60,66 24,96 12,108 48,72 The sum of two numbers 1s 120 and their (vi)
H.C.F 1s 12. The numbers are:
2
a+b at — b @’ + b’ a® — b’ - ‘}2’ Sk a" ‘f_‘ Aa=b" | iy
LCM of a® —b” and a* —b" is
th
CLASS 9" MATHEMATICS Exercise 6.2 (MCQS)
A
D C B A = Uiy
-
N x> —=5x+6 s x* —4x+3¢
.L .{*f?r E})\ .}'C —3x+ 2
(Xx=Dx=-2)x=3) | (x—D(x-3) | x—=2)(x=-3) | (x—=D(x—-2) H\':@\“’ - -a-(ybb? (i)
B Q\{\“C H.C.F of X2 —3x+2, x2 —4x+3 and
/f/% x> —5x+ 6 will be:
N X+y Xx-—Y
2, .2 dxy > - < F S
2(x"+y7) A\ Xy X—y x+Yy .
2 x2 7 2\ g y ) (ll)
xz_ 2 ,x{x{y(“\\v/ X -V JC-[-y X—y
Y Nl v Simplest f f is:
ARQY plest form o iS:
A AT x+y
NN
N x* — x—6
N\ W/
Q) )
x—2 x+2 x—2 x—|—2 Lﬁﬁu/ d/ x2_9 (iii)
x4 3 x+3 x—3 x—3 ¥ —-x—6
Simplest form of —— 5 iS:
th o
CLASS 9" MATHEMATICS Exercise 6.3 (MCQs)
A
D C B A <= Uy
=
=% 6/!;@((4%2 —-12x+9)
(2x+3) (2x—3) +(2x+3) +(2x—3) (i)
The square root of (4x2 —-12x+9)is:
«  TAuk€x® —1A 12
1 I 1Y 1 s
T| x 5 ix:2 [x+—] [x:zj (11)
X
A A& \ . The square root of x* —14 41 18!
X
+5 752 J5 5 o CAuR¥25 | (i)
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g The square root of 23 is:

N

- A WESX = +12] x4+ — Ly

= X X

g

: 37 35 38 34 Sl (iv)
E Which number should be added

N

= to X~ 5 12| x+— | tomakeita

= X .

§ complete square?

= S pESET LI St akiz g A

E 0 S 1 2 How many ways to find square root of | (V)
= an algebraic expression?

= ) 2

= «  Shuesdx’ —12xy+9y

E ) 2 :
= | 2203y | 1y(2x43y) | 2J(2x=3y) | £(2x-3y) (vi)
= ( ) ( ) \/ The square root of 4x" - 12xy + 9})2

= is:

g ¢ : e « o

= 6 e C:é“" pAlS ) oA /,.ﬁ\@ ?’&-‘ U""% U"AIT.U
D C B A ot Uiy A
= AR D) ;

= < 5.2 2. 5 3 3

= A\ =& B — sf — L,UL‘? .
= | pa(p'—q’) | P°’a*(p—q) | Pa(P-a) | pq(p’ —&})(;E? Jwr - SPA P A P AT i)
= e o C.Fof pg-pg’and p’q"—p'q’1s:

—_ U/ > -

= AN(Y 3,3 3.3 e

: 5xy 100x’y’ 20x°y’ 2 C\ 'y’ -é'j : (Ml;igj()x 'l 5xy" Ut (i1)
= T\‘@) > H.C.F of 5x°y”and 20x’y’is:

= | ’ 2 _ _

g ) x—9 (ﬁ%f\i\) 2y . - (‘Ml;ng 4+ X —6 28 X 2(,)}‘? (ill)
= QN H.C.F of x—2and x’+x—61s:

= ' 2 2 3 3

§ EIRE: (a-b)2 a? —ab+ b b Ll (”l;wa —ab+b"sla’+b V)
= H.C.Fof a’+b’and a’—ab+b”is:

= ‘ 2 2

= <) 24 < d P e (‘yl;bg}{ —X—6.4X"—5X+6 v)
= H.C.Fof x> =5x+6and x°—x—61is:

= 7 i / ) 3_h3 a2 —h2 .
= a’—ab+b* | a®+ab+b’ a+b a—b o (J’i;wa b- sfa” b (vi)
= H.C.Fof a>—b’and a’ —b’is:

g :‘;;(”I;sz+5x+4mx2+3x+2=x2+4x+3

= | ) | x43 | (D) (x+2) xt1  |HCF of x*+4x+3, x*+3x+2and| (Vi)
= X° +5x +41is:

g T ‘ 2

= 15x%yz 5%z 90x2yz 90xyz - S 13=21556'30xyz sl 45Ky <15% (viii)
= L.C.M of 15x*, 45xy and 30xyz is:

g q — b a4 _b4 a2 —b2 az n b2 -é"- J: 'Jlﬂb’})‘gadr _b4 JJ’ 32 -+ ]:)2 (iX)
E L.C.Mof a°+b’and a*—b"is:

=
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“'JWU}JJI ' abca 2 S LE UM 9
z LS A seee A S KUK
ALl | S | IS &S A4
Product Quotient | Difference Sum The product of two algebraic expressions 1s
equal to the of therr H.C.F. and
L.C.M.
a 1
; 31K |
b da+b 4a—b 4a - 922 b’ 3a-b )
9a’ —b’ 9a’ —b’ 9a” —b’ 9a’ —b’ S a 1
Simplity ———+ =
9a"—b~ 3a-Db
2
a~+5—-14 a+3
- 31K
a—2 a+3 a-+7 a+7 T~ ’ 32—33—]8xa—2 (it
a+3 a—06 a—2 a—6 . .. a°+5a-14 a+3
Simplify — X =
a-—3a—18 a-—2
3 3 2 2
i JL.5'51K34 b4 4 tabtb
a+b a—b 1 1 : a* —b a2+ b (xii
a’+b’ a’+b’ a—Db a+b Simolif a’—b’> a’+ab+b°
implify b aeb
(o
- ,,fﬂ“:’iif\&érl\w(zx+y 1]{1 - ]
A (O)~ X + X +
Z y y X . Y y :
R A A X1V
7 X X+y xTy %@mhﬁf 2Z+Y g lal1--F = o
P PE X+y | X+y
-\ > - 8 ] i —
a+1 a—1 t(a—1) i/(\ﬁ%\/ @ T~ : /_)M‘? 4o (XV)
<O The square root of a” —2a+11s:
/\(1 \_jx\; -
PN L it S S L X 164 4
2 y 7 s
4x° 16x > Xf \i) 8X What should be added to complete the | (XVi)
N g S f 4 )
~ quare of x +64 .
) 1 1
i | 1 | &l d/l)@gx4+—4+2
The square root of x*+—+21is:
X

IR
u@pakciw.org%

CLASS 9" MATHEMATICS Exercise 7.1 (MCQs

D C B A = Uly Jlf’/;’?
b0 by s ) q =0 I | _.Qd/ﬁm;%&;;.,{u{lax+b=0 (i)
ax+b =0 is a linear equation, where
=L el SUOE | bl LG F5s < wperFE S el (ii)
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Identity Inconsistant | Consistant | Extraneous | An inconsist equation 1s that whose solution set
Solution Solution root of ¢:
;’ _ J:(c_uﬁcﬂ _%&Uf;( - ;;clf':.u’;;f&ljbfd)ﬁfgl
""f‘f JI7 Sl e The root that does not satisfy the equation is
Solution | Extraneous Root of ) called (111)
Set root equation None of
these
X+ 7 +4x+ 20610 +13 et s s S
-5 5 ¢ S5 :
X=—2 x=2 X = = — 3 1V
3 . 3 Which value of x 1s an extranneous root of the (1)
equation \/x [ \/x 2\/616 137
isls bs & isbe S B Sleito G4 +3) =x+3
—13 3 & -3 v . :
e ; = a/an:
Conditional Identit Inconsistant v Hx+3)=x+31s a/an (V)
equation J Solution None of
these
@ " o J:'/c_g_)ﬁcﬂ _ﬂgMjlsudJl?UﬁULg Lu’*ufup&;;..{»
S _,,{deu u:_" il e Two linear equations are said to be equivalent if :
Same Diftferent Different " they have exactly the (vi)
Solution Solution equations Nglne of
ese

CLASS 9" MATHEMATICS

 Exercise 7.3 (MCQs)

/\
D C B A _ ?<$\§\ = Uly A
A G) - MR d’.{fg:_abb‘/{ x—2 <0
4 3 - 1 N\UHin equationx — 2 < 0 has its solution (1)
Do
,»"‘4'/;\?\1{./? S et .
IR ‘e er SUSE 9—Tx >19-2x7 =i 4
= 7 = (ﬁl\i N 4D Which is the solution set of the inequality (11)
N\
AN Oia> 192!
J/ L, Yoo Qq‘;if/-f <F ) S el > s< e lsls P
ek John enry Thomas | The unequality < and > were introduced by (iii)
Jobst Burgi N . . _
apier Briggs Harriot
JS S SepenIstteah )]
a..b b>a a>b a<b If a 1s greater than b then mark the true (1v)
statement:
eb | b>a | axb | a<b rg < Pred a=bal )
If a—bis positive then:
o o T8 4 ot S ikl e Sl £
el John Henry Thomas Who introduced the symbols of inequality? (vi)
Jobst Burgi Nan; . :
apier Briggs Harriot
? JUSE S S - o \ ®
7#@“04‘.9\ Ddud; _WUA)-SL’.«AL:\J
D C B A < Ul = /
J}f c:..u‘.f /! .
T rd ¥y FE3-4x <11 ehsls Frubuf e Uiy
- ey —2 —8 Which one is the solution of the inequality (1)
None of 3—4x<117?
these
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ot il Qe L0 e s> 2 ok dS
< fals (S . o - i

_ " ol 2 &é/:J/f” O 1 ‘o
Linear £ "%—d“f-j (11)

Equation Inequality siernd L Equation | A statement involving any of the symbols <,
Identity >, <or >1s called:

_$JZVQK$5JPL—2<X<%¢JJL~‘/:EX=_

2 0 3 -5 X = 1S a solution of the 1nequality (1)

o810 JJX S
If X 1s no longer than 10, then:
J523L1600 ssl sl ' sl $ B 24§ el L

¢ >1600 c=1600 ¢ 21600 ¢<1600 | If the capacity ‘c’ of an elevator is at most (V)
1600 pounds, then:

Xx—2<0 Xx+2<0 3x+5<0 x >0 'LJ&EWJFL shlss x =l (Vi)
x=01s a SOIUtIOH\Of the 1nequality:

D)
YAQAQAQX @k @\f <

x >10 x <10 x <10 X >8

(iv)

CLASS 9 MAf;@E%ATICS Exercise 8.1 (MCQs)

D C gﬁﬁ = Uly J&"’/
_G:;.ufdu::..cj)/&d}” (—3 —2)5
The point (—2,—3) lies in quadrant:

(a,0) (0,0) X=y (x.) . y/: S (i)
1s called origin of plane:

k| g | O | G il EXONSF|

u 1st 2nd The line XOX' is called: (111)

quadrant quadrant

-

ug D) U: Jlf -ﬂlﬁd‘) J‘:dﬁjb{t/’ (iV)
One Two Three Four There are quadrants in a plane.
e 8 iy CJ/JLL; c!'ﬂ/}) -Lc.dl:uf_(Z,O) L3
| ] st 2nd Point (2,0) lies 1in ; (V)
quadrant quadrant
J)’/a:..u':c)l _ujl./(;;} ufu}’:'ﬂlg/df‘:"ru,?g{: :?l:)bd)/ﬁ@w
| 4 x- 1% NP4 7 Two perpendicular lies meeting at divided (i)
Origin % -a%iS y-axis None of the plane into four quadrants: vi

IV 111 11 I (i)

X-ax1$ y-axis

X-aX18$ y-axis

these

X~ Jf Yy~ J’j

X-ax1s y-axis

Aok P - OO B | (i)

The point (0,2) lies:

=S e e ey ms
o
i
Y
Q “
C o
m L oy s
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1st
quadrant

2nd
quadrant

CLASS 9" MATHEMATICS Exercise 8.2 (MCQs)

A
D C B A = Uy .
N
O 0 0 0 -‘C.JQ.U'L{J}L&EFQUJGd/@JHU:JL/dﬁ .
P 5 C+32 =5 C=32 | C= 5 F+32 | C= s I —32 | Relation between degree celsius and (1)
degree fahrenheit 1s:
=wCc=0°Ch| ..
35 F 34 F 32F 32 F=xC=0CH| 4
If C=0°C then FF ="
_fﬁw*d/@;ﬁg./gui%&ﬂwﬁdﬂﬁ
10°C 20°C 30°C 0°C If temperature is fahrenheit is 68° F , (iii)
temperature in degree celsius will be:
cpds At )
0.5 3.5 2.5 2 How many acres are there in one (1v)
hectare?

CLASS 9" MATHEMATICS E;@rmse 3.3 (MCQs)

()"

D C B A A\ A - Ul ' /.'./
& <§ AW
) 1 3 4 ﬂoﬁ\)\? \ u"é)/é’)/ LI(§eeen 3 2 b4 s (i)
~_|(Twolines can intersect only at __ point:
= N " - . -
One T%O Three it%” | How many lines intersect at one point only?

ﬁ-’ S by

D C (ﬁ%\\) A = Uy J?’/:}
(—1,-1) (1) (—1,1) (1,1) :ﬁ.xlx(x,y)?ﬁ(x—l,y+l):(0,0)/’/l G
It (x—l,y+1):(0,0), then (x,y)is:
(1,1) (0,0) (1,0) (0,1) :?"‘(X’Y)_’”(X’O):(O’Y)/' (ii)
If (x,0)=(0,y), then (x,y)is:
e MBS (2,-3) B
I\ I11 11 I | - FUGLEH (2,73) B (iii)
Point (2,-3) lies in quadrant:
e Bl $(=3,-3) &
v 111 11 I | o G A (-Be-B) (iv)
Point (—3,-3)lies in quadrant:
5 1 3 , %4l4y-g’ﬁy:2x+lcx=2/ﬁ v)
If x=2, y=2x+1thenyis:
?é.élgé_ji/fi y=2x al}LﬁﬂL’u’(
(0.1) (2.2) (2.1) (1,2) Which ordered pair satisties the equation (Vi)
y=2x7
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gy o
th o
CLASS 9" MATHEMATICS Exercise 9.1 (MCQs)
A
D C B A = Ul
#
d—\/ +x)°+(y, + )’ d—\/lx —|-x‘2+| + ‘2 :
= (X%, +x)" +(y, + —\|M TN Ya TN e Uy 6L S e Lol s L LlEss Q)
5 > > — | Distance formula by two points 1s:
d=\/(x2—y1) +(¥, —X) d:\/(xz_yl) +(x5 +,)
- B —e bl b6 Q(0,3) 4 P(1,2)
‘PQ‘ = /26 |PQ| = \/g ‘P Q| =2 ‘PQ‘ = \/g Distance between the points P(1,2) (ii)
and Q(0,3)1s:
- & e EIE e by s bl sl b Giii)
Positive Negative Zero Imaginary | Distance between two points 1s always:
SLELE | S| s | ieass | S ROSAPCLD.003E |
lake a € Non- Are collimear | Both A & B | Fomnts P(=2,-1),0(0,3) and R(1,5) _:
triangle collinear ﬁ
P P s " P )@/)\ e debles £ (00) A (=08 | (o)
- Dlstaqca\between points (0,—5) and (0,0) 1s:
th S
CLASS 9" MATHEMATICS = Exercise 9.2 (MCQs)
D C B fjm\\f/:{é@( = Uy N /:l
o 'wb:>f = F | / . e o [ ¢
2l s) L6 2L ISl uiwwawd;u O )C”&A"Ac‘,wwbaw E LYYV Ll Lk’
o 3 If the length of the three sides of a :
Right angled Isosceles Equﬂartemﬁ \/ Scalene trianele are same. then the trianele will (1)
Triangle Triangle KT\I;faﬁﬁl“’) Triangle ~ = i =
30°,60°,60° | 60”,60°,60% x% ,60°,20° | 30°,60”,90° | Lunplig LaBLIIGE | )
For equilateral triangle, angle will be:
sl 2 &334 433 - LA <5, Qe
_ e Ny | R
All different Two same / AT All equal Scalene Triangle has : (111)
right angle
angles equal angles angles )
st i gy | e | pIEIAE_Jssfik )
Triangle Straight line | Parallelogram | None of these | . IPLE-COIINEAT [POARLS: IHAKES 1
Ol 1 & slisls u;nA& B J.?/J:(z..uﬁul -ujlﬂ_id"/ (V)
Equal sides Equal angles | Both A & B | None of these | Square has :
_%J.’C.-J?t&bﬂﬂ; ________ el L
5 4 2 3 A triagnle 1s formed by non- (Vi)
collinear points:
e (E:/b Oy $al s uﬁ*"/é:(z.:..uﬁul f%duff""f"fkd”bw»ﬁ/{u: »
T . : A closed figure consisting of three non- | (Vil)
riangle Straight line | Parallelogram | None of these : Il
collinear points 1s called.
s vy G315 Y -ugam,.w | a)}’u.affdl}éﬁ(ﬁbpb@u:/q
= — . If three points lie on the same line, then (Viii)
collinear non-collinear parallel unparallel . _
these points are called:
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éIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
th
= CLASS 9" MATHEMATICS Exercise 9.3 (MCQs) =
= D C B A =iy KA | E
% A Uriysr Lalb dabylrn  Lads s 206 () E
g il s "_’f V2 s Lol (i) E
= Base Hypotenous | Altitude All of them | wMid point of the of a right triangle 1s =
= equidistant from its vertices: =
g : J/LJU' -uji,; Fs e $15 g
= LB b JYDA& B 7 The mid-point of the diagonals of parallelogram (i) =
g 1 point 2 point BO&]IBA & None of coincide at : g
g these g
§ St -u,??_yz/.:;.t‘yz,!zﬁdyﬂ .......... L/ 615 555 L) =
= Y L3 94 S A line segment has mid point/s. (i) =
= Two Only one Three None of =
§ these =
g ¢ M ,— . . N & §
0 iad duda sdle) 0l Ja A am DM aly ) S
= N ’ =
= D C B A @\*’" =y KA | E
= AN =
= \\.. b (1,1) 251 (0,0) b6 =
= V2 2 1 0 %\i - L (1,1) 1(0,0) G| °
= — A r/[ ‘Distance between points (0,0) and (1,1)1is: :
= AN . 5 £
= Dy - B3 26(0,1) 251 (1,0) b& :
E 2 \/5 ] <—~4’;:\(W,z> | T ,J.-ﬁd“ /2 ( ))3 ( ) | (ii) E
E — K¢ é Distance between the points (1,0) and (0,1)is =
g m \:\) - . E
- \\ e 53 6(2,2) 25 (0,0) b6 E
= | (L) | (o) (L @ (L) o, EOeos22) 00058y | S
= Ny Mid-point of the points (2,2)and (0,0)is: =
= N : =
: .l S8 6(2,-2) 1(=2,2) b6 =
= | (LY (00) | (=-2) | (22) S 0 08(2,2) w(22) (iv) | S
= Mid-point of the points (2,-2)and (-2,2)is: :
% U{LJ:U' ; : o ) . “M 7 L e o E
= Lol sl Lol 2k? F UG -« Qi mm:b:dud/cw!u:::iu"wug =
= None of : . . . . _ (V) =
= these Equilateral | Scalene Isosceles | A triangle having all sides equal 1s called: =
j | o : 2| i SIS e A o o
= | Nemenp | UG | LEnE | FUGE | Ok 2 QS P L7 e gl | (] S
g 31225 Equilateral | Scalene Isosceles | A triangle having all sides different 1s called: E
%IIIIIIIIIIIIIIIIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII'IE'
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glllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
th )

- CLASS 9" MATHEMATICS Exercise 10.1 (MCQs
D C B A =iy R
N -~ . oy dndE= s

= | Congruent s A Correspondanc | The sign "=" 1s used for: (1)
= S Equal Approximation [; el = '

E db-J-Ub . Ly -u}:ci/c.l;u:’fgj’ﬂl?é}l}}u:lé’bygll{é,ﬁqj/fl

- _ A,gyzf‘;gf -Jl i P S S S e L If one side and two angles of one (ii)
= S AS == eastu 4l | §.5.S Pastulate | None of these | triangle are congruent then:

= | Pastulate B

= = = . The symbol for line segment is: (111)
g 4 3 2 1 - Ll (iv)
= B A line segment has end points.

g C J 8 C ol q UKJ[C-U:U' . e - (V)
= ongruent | perpendicular orresléon aN€ | None of these | - 1 the symbol of:

g J;l 93 Lﬁ N -u*?z_ﬁé.;l}_ccwag (Vi)
= One Two Three Four A triagg&e as angles.

g !,/6\“\; Z/ :‘a.t‘yur{ Kug,al}&;;ﬁl Py

- 360° 180 120° 60° < he-Sum of internal angles of the (vii)
5 _ (5 \trianglle is :

= S\~ "AABC = ADEF ADEF = AABC

= ~1 ()
= 1L had > /f:jf > (viii
E 7N AABC = ADEF ADEF = AABC )
-— ¥ \ r'/;

E _ jx! ) H

S 4 3 Ay 1 How many lines can be drawn through (1x)
= RN two points?

g 1 ~ "fi)x\) N _%gﬁdlﬁ“l_uw“& LG (x)
. — Symbol used for similarity 1s :

th )

- CLASS 9" MATHEMATICS Exercise 10.2 (MCQs)
A
= D C B A = Uy

#
é J:'LP W = u:/ d S Lo -uja_ﬁ(,ubl.ﬂl?igﬁJ u-*»e,uﬂﬁwf i .
= | o . If two angles of a triangle are congruent, (1)
E ongruent | Perpendicular | Correspondance | None of these : ; _

E then the sides opposite to them are:

§ EH Ty Sl _al) 26 CHIES 2 7 _a;;.t"ﬁdlz;"l,;!‘z}"cu 7

= | Angle | Rightangled | Obstulate (Ve H.S pastulate used for: (i)
= . . . All of these

= triangle triangle angled triangle |

E o k¥ co ) L3 ) . _uja';ﬁd"u‘i‘;;;.w”;u‘féfﬁwuj

= =[5 AL L ol Dot 1 Any two medians of triangle are
= Equiletaral Isosceles Right angled equal in measure: (i1i)
= Scalene triangle triangles triangle

= triangle
%IIIIIIIIIIIIIIIIIIIIIIiIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII[II
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ey
a};LJﬂHJé&J?ﬁtgfjljng&ﬁ‘J{j
AU C oyl (sl E o sk RS | -‘J el (iv)
isosceles Equilateral Scalene Obstacle angled | If the bisector of an angle of a triangle
bisectors the side opposite to it, the
triangle 1s:
80° 90° 60° 30° In a right angled triangle, if one angleis, | (V)
30° other will be:
th
CLASS 9" MATHEMATICS Exercise 10.3 (MCQs)
-y uf?UldﬁL-; eyl (Ssl CMUI..EE; -é.dﬁé.ﬁ'd{ AL U (Sl
Right - |5 o5 - [ An equilateral triangle 1s a / an @)
angled Isosceles | Equilateral Scalene tnangular:
Iriangle Triangle Triangle Triangle
A8 a5 PR AR eyl (sl E ko k2 -Q.Jﬂw,,;u'ld;u,{laf»
Right - |5 5 =[5 A/ An triangle 1s an equiangle triangle: (i)
angled Isosceles | Equilateral Scalene
Irangle Triangle ITriangle Triangle q\\
Fi » e Ju g \ E,Q'Lk L e e f ()
Conora — - Non- A trian /gt @ ongruent sides has angles: (111)
ongruent Equal Unequal
congruent A ET
Q\\)\ WA
th
CLASS 9" MATHEMATICS Exercise 1.4 (MCQs)
e (Cf/
D C B P \Q%) = Uy Jt“'/;/
* o A\ \\;(j)/c:..u:c)f
ket fj.’l/b ”"’/f\g u«':’ _Lt‘ﬁdl"a"lé L e sy é; /3 _éi-/: X
Acute- Right- Obirse! r — . (1)
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